
Set- A

ppr -, .2J>(3

Seal, of Superintendent of Examination
Centre & Signature of Invigilator

S'.No. 137190,

Number of Pages in Booklet: 64 . No. of Questions: 150

To be filled in by candidate by Ball-Point pen only>"
Roll Number ' Serial No. of Answer Sheet

I III" II I IJ qJ\ ) t I
t-------------,-----t Declaration: I have read and understood the directions given below.

Signature of invigilator : Signature of Candidate 'Dat . .1 : ••••••....•.•.•......••••••.......••• e: .

. Name of Invigilator : Name of'Candidate : Time: ~ .

INSTRUCTIONS TO CANDIDATES
L (a) Candidates are allowed 10 minutes to fillup the basic

information about themselves in the OMR answer sheet
such as Name,ReiIl No., etc.

(b) After this, question booklet will be given to' the candidates,
they are required to .do the following:
(i) Examine the booklet and to see that all paper seals at

the edge of the booklet 'are intact. Do not accept the
question. booklet if sticker seals are not intact.

(ii) Tally the number of pages alongwith no. of questions
printed on cover of the booklet.

(iii) Check that question booklet contains the questions of
all relevant subjects/topicsas required and stated in
the ~and no repetition or omission of questions is
evident. .

In case of anydlsCl-epancy, please get the
booklet changed; This i.should be done within
j minutes of receiving thequestion booklet, after which
neither the question booklet will be replaced nor will
extra time be given.

(iv) After examining the question booklet please enter the
Serial No. of the question booklet at the appropriate
place in the answer sheet and the corresponding circles
be. darkened with Black ball-point pen.

(c) Candidates are not permitted to mark answers in the Answer
. Sheet in these 15minutes. THREE Hours more will be
given for marking' all the answers. .

2. (a) On page I of Answer Sheet in upper half portion, write
Name, Roll No., Name of Exam Centre, Date of Exam and
Sr. No. of Question Booklet supplied to you. Put your
signatares also. On the lower half portion of this page fill
in the boxes 0 of the first topmost line in capital letters,
your surname and name (in English). Write one letter in
each box O. Below each lett.er darken with Black ball-
point pen the circle O' bearing same letter.

(b) On page 2 of Answer Sheet fill in your Roll NO.,~IC. by writing
" ill the0 and below it by darkening corresponding O.

(c) On page 2 of Answer Sheet only the. answers to questions
are to be marked. The instructions for this are available on
the back cover page of this question booklet.

.(d) All entries to be made by Black ball-point pen.
3. Optical Mark Reader (OMR) machine prepares the result by

reading the entries made in the circles0 with. the Black ball- .
point pen on page 1 and 2 of the Answer $heet, hence the
candidate must be extremely careful in marking these entries
and inust not commit errors.

4. Please do not write anything extra except what is asked for.
5. USE OF ANY CALCULATOR, LOG TABLES OR ANY

OTHER ELECTRONIC GADGETS, MOBILE PHONES IS
PROFfIBITED.

6. Rough work should be done on the blank pages provided after
each section or subject. Extra paper will not be supplied.

(For instructions regardlng-marktng tJre answers please see
the back cover page of this Question Booklet)

1:rlT~~~~
1. (q;) ~ <it~.~.3fR.~ 11.~.~ ~, ~;i.,

~~~~ 10fiRG~1~~'~tl
(~) ~ lOh~WiffiL~<it~-~~~I3lJtfifil

~~q;vn.t:- .
(i) .' ~~~ 11TfR1 (Rqi ~wft ~"~ <fit~ ~-81

iiRT~cfi't~wft~~~m-~~
';fCfi'tl

(ii) ~-~~~i'lmw-itcfi'tmCfiTffR;rR~~~
1f( ~ IT( ~->11 ~ Cfi\ -81~~'~ ~ m m ~
~-~~-81~~~~~~~
~ 5R~~ Cfi\;ft tl ~ ~'';f m ~-~
~~~';f~~··~~·.1

(iii)m-~l1~~~/~~~~.q·~

~t~·JIR~t~JIR~.~m~~~
w.f~~~t ~<fit.~~~ciitl

(iv) w.f-~.~ ~ ~ -mii'lw.f-~ <tiT~.31'Vft
~-~.q ~ •.Cfi't~ Black bail-point iR ~~.
~<it~1

(11) ~~m~~ 15iimcfi't.~~.q~~~cIi\·
~~·tl~~~~~~~~CfiT~·am
~~·l

2. (Of» ~lT(~-~~.~ 1~~am)~~~~, ~.;i.,
~i111-iro~, tTtt~~<tiT~, lIfr~ftftft~w.f-~cfIT
~ ~ ~ ciitI'3m ~~ ..J/\ Cfi'tllift ~ ~ f.%;fflam)
~.q~~cfi't·~.qlRO~.q~·~~-w:
if311m~~'Illf~I~D~.q~tt~~, fi\;\
• ~ ~ ~ ~'3t~ ~ 0~ CIiT Black ball-point
~t1f8U~~~1

. (~) ;m:-~~~21R~;f·,~P~1t~~~O
~ <it Black ball-point iR ~ ~.Cfi'tl

(ll) ~-~~~ 21Rw.il~~.~~I~m.q~
~w.f-~~ lftU ~ ~ tr

(or) .~ ~ Black ball-point ~ ~ ~.;;rR tl

3. ~~ llT<f; &\ (OMR) ~ ~-~ cfi'tBlack ball-point iR
~ ~ ~ 0 cfi't~.<t>1 ~ ~~ ~ cti«ft t 3ffl:

~~ ~m ~.>ornrT t flf~ "3ffi:-lftG ~ P 1 cr 2 'R'

~ ..<it~ ..~.~-~~~~~~';fciitl
4. ~-~'R~~1R~tTf~~t3'lt'1lClT~';f~1
5. f.n\ft J/\ JICIiR~~, ffiii.·~.lfr 3R.~~,

~~~CfiTmr~tl .
6. \\li~~'~-~~_"¢"~\l11T'Iif~~ifIG

~~",,~~1RCfi't'~~~~~~~1
(~ ~ 'l5'(I\~~'ftmllTof"~$1fuJ~ ~1I1ft'ti

.,. ····~~~.I)

SEAL



13/JREN
SET-A

Time for marking Answers of aU 150Questions: 3.00Hours
W1ft 1501ml.~ 3ifIR ~ 1If~: 3.00,..q

Maximum Marks : 150
~.dif": 150

Note
1. This paper has Three sections, Section-A Physics: Q.No. 01 to 50, Section-B Chemistry: -

Q.No. 51 to 100 and Section-C Mathematics: Q.No. 101 to 150.

2. This question booklet contains ISOquestions numbered from 1 to 150 and each question carry
1mark. All-questions are compulsory. There is no negative marking. - .,

3. Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and stated above and no repetition or omission of questions is evident.

4. If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15minutes. -

5. .Before answering the questions please read carefully the instructions printed on the back cover
- page of the question booklet and strictly follow them. Indicate y~ur answers by blacking
bubbles carefully only on the O.M.R. Answer Sheet provided.

6. Use of any type of calculator, mobile phone oranyother electronic equipment and log table
etc. is strictly prohibited.
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# . 'SQ -at

'f'fihs ~ ('Sr. .•• 1 ~ 50)

1. GT'~~~qflH ~ F~'~~
. ~CfIT3iIChf(iH~t Im~~
. "ChT 3tTUT m1T ~ .~ 'Chl ~ ••.nfht.
Cfi'{ ~ ~ ({?1T ~ ~ G#f:a' cfft ~
3iqRcdWH~ 'Hl3R' ~ ~ 1ftT.r ~
m IJII<)all :

Section - A
Physics (Q.No.lto 50)

1. Two equal and opposite charges
attract each other by a forte F. If half
of the charge from one is transferred
to the other without changing
distance between the charges, the
force' between the charges now
become:
(A) F

3F
(B) 4

F(C) -
2

(D)
F-
4

. .
2. The main force governing the motion

of heavenly bodies and keeping them
in place is:
(A) Gravitational
(B) Electromagnetic
(C) Nuclear force
(D) All of the above

3. Two parallel conductors are placed at
a finite distance. and carry unequal
. currents in the opposite directions.
There shall
(A) attract each other
(B) . repell each other
(C) shall not feel any force
(D) attraction or repulsion depends

on magnitude, of currents

(A) F

3F
(B)

4

F(C)
2

F
(D) 4

2. ~~fa:r~6h 'Cf)RUf3tlCh.~fl~ fiRlTfir
mt'~m~~~'~~~ :
(A) . !1(i\~IChEiuI ~

(B) .~ ~~~"GJM

(C) ~~

(D) ~~

3. G1'('tqlOilP(l( '€i1f1ffi ~ ~W.q(1 ~ ~

~ t I~ ~ Pcfq6n ~ if 3m1fR
~ tmnt SletlfSf/l1 'Hl~

(A) ~ ~CfIT 3il€Fifiin ~

. (B) ~~q;)~iiff~

(C) ~.lftT.r cnTf 1((;(~ ~.

(D) ::HIl:6EiuI~ Slfftaitiul trm3it~lfR
v v

~~

I I
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4. Work done in stretching a spring of
1 ' . '. /

constant k by x is '2 k.x2.The work

done when above spring is stretched
further from x to 2x is :

, (A) !.k.x2
2

(B) kx2

(C) ~k.x2
2 .

(D) 2k.x2

5. The workdone against gravitational
field in raising a body of mass 2 kg
from a height 3.0 m to 5.0 m, taking
g = 10 mls2, is
(A) 40J

(B) 60J

(C) ·1001

(D). 3201

6. The Figure (Q. 6) shows displacement
- time graph of a wave. The frequency
of this wave is:

displacement (mm)

+4
t +2

4. ~ kf.\<H,iij)cfi\'~cnT x~ RI~,fh1 '

~ 'tR ~ kx2C6'1lfcnro ~, I'~

~~cnT 3ffi' ~ x~ 2x RI~ln(1
~~mC6'llfq;m~ :

(A) !.}a1
2

(B) kx2

(C) ~kx2
2

(D) 2 kx2

5. ~Glftf;.m. $(64ql"4 -$mcnT 3.0·1ft.
~ ~ 5.0 1ft.cfi\' ~ '(f(fi "R ~ -ij ,
~l1M-$~~CfWrf~, ~
~~Rf\<4~ g = 10 1ft.! ~2 61' :
(A) 4()J'

(B) 60J
(C) 100J
(D) 320J

6. m ('3:f.'{f.6).q ~ (f{rr -$ ~ ~
. ~~ mq; SI~ai(1~ olll' (f{rr ria
~~

~(ilr.~)

(A) 4x 1~3 Hz (A) 4 X 10-3Hz
(B) 4Hz (B) 4Hz
(C) 500Hz (C) 500Hz
(D) 1000 Hz (D) 1000 Hz

13/.JREN -4- Set-A



17.
I

j
1

Out of the following the wave that
cannot propagate in vacuum is :

(A) Light waves

-(B) Radio wave

(C). X-rays

(D) Sound waves

8. Kilo-Watt-Hour is the unit of -

(A) Electric power

(B) Energy

(C) Impulse

(D) Rate of Power

9. If light waves are propagating in
vacuum, the relation between its
frequency v, wavelength A. and
velocity C shall be -'

. (A) v=CA.

(B) C=VA

(C) A.=vC

(D) v o A.

7. ~~it~~~~.itgraftft
~ll~'Qt:

(A) ~m
(B) ~m
(C). x-ftrojt

(D) ~m

8. ~-~-~~t

(A) ~~

(B) ~

(C) ~

CD) ~~.

9. Siail:tl ~ ~ f.temfif· ~=aftdm nT
~ ~··v. d\1,_ai A.~trr c it
f.fq~.~:

(A) v::::::CA.

(B) C=VA.

(C) A.=vC

CD) vaA.

13/.JREN -5- Set·A



10. When a wave travels, from one
medium to ancther, the prORerty, of
Wave remaining.unchanged is,

(A) Frequency

(B) Wavelength

(C) Speed

(D) Direction of propa~ation.

11. Aman is suffering from hypermetropia.
This happens because :'

(A) The image of near object is
formed in front of retina by the
eye lens.

(B) The image of near object is
fotmed behind the retina by the
eye lens.

(C) The cones on retina are missing.

(D) The cylinders on retina are
.missing.

12. The speed of light in aids 3x 108m1s
when this light travels' in a medium of
refractive index 1.5, its speed shall be

(A) 3 x 10sm1s

(B) 2 x 108m1s

(C) 0.5x 108m/s

(D) 4.5 x lQ8rnIs

10" ~ 'ffffl ~ ~ "« ~ lITtlI'lf ~iI n:H

~~"" ~om~ aoo ~ ~~

(A) ~~ I

(B) ~t<f~ I

(C)~t I

(D) ~mrr.t I

11•. 1ttfi·~~-~~~~t~

qrr{OT t :

(A) ~~~q;r~T;[~~

~wrn~~~t

(B) ~"@.rn'~.q;J~T;[~~

~ wrn~ 'tfuJ ¢ROTt

(C) ~"Q1~~~

(D) wrn"Q1~~~

12. ~.q '5fCn"m q;J ~ 3 x loslft.l ~.~
~ '5fCn"m 1.5 3i q€IdOi iCf)~ lUtlI'lf -ij
Tffff ~"" ~ WImm
(A) 3 x 10slftJ~.

(B) 2 x 10slft./~.

(C) 0.5 x 108lft./~.

(D) 4.5 x 108lfi./~.

Set - A I I13/JREN -6-



13. A parallel'beamof Jightwhen incident
on an optical device shows behaviour

,as shownin FigureQ.13. The device is '

(A) :Convex lens

(B) Concave lens

(C) Concave mirror

. (D) Plane glass, slab of high
.refractive index.

14. Human eye focuses image on retina
by:

(A) to and fro motion of eye lens

(B) to and fro motion of retina

(C) varying convexity of eye lens

(D) varying refractive index of eye
fluid

15. The temperature measured on celcius
scaleis-lO° the corresponding
temperature on kelvin scale is

(A) 10K

(B) 283 K '

(C) 263 K

(D) 14K

13. 'G11t~~ql;:a( S1¥I'1 ~ '$f.'~'
$I~IIlI4i~ '1'( j~llW\'t 11l~

04ct$'~~'~ 13~ ~~tm
~t

(A) ~R
(B).~~

(C) ~~'

{D)'a!f'~NCfa ••iCfillft.'ift tlqdH

q'~1

14. ~ ~ srfdRlRi ,~~ 'q( 'hlChtl
~t:
(A)q Rem ~-tftll RittChICh(

(B)

(C)

(D)

-qR~~CfiT iil«Hcfi(

m-.q ~1;if?fif 3lQS1(1;C iCh iil«MCh(

15. itWfl~tI··~·~ ~ ~l(fftl' ~

, -10°C '$lW~ lfA $~;C tqR 'q'(

11m

(AY 10K

(B) . 283K,

(C) 263,K

(D) 14K

13/.JREN ~7•. . Set- A



16. A cricket ball of mass m strikes the bat
with speed v normally and bounces
back with speed v normally. The
change in momentum of the ball is

(A) 0
(B) mv

(e) 2mv

(D) Depends on the nature of
collision

17. The heat required to change 1gm ice
at ooe to ooe water i/i01 and that heat
required to convert 1. gm boiling
water at 1000e to 1000e steam, is Q2
then what is true

(A) Q»Q2

(B) Q2>91

(e) QJ=Q2

(D) Q =Q =0) 2

18. If R is universal gas constant than
kinetic energy of 2 gm H2 at
temperature. T is :

(A) 312RT

(B) RT

RT«» 2

(D) 3RT

16. ~ m.S(&I¥OIf4 cn'T~ mM ~ ~
HMtec(i v ~ ~ Getl(jdl ~ om G1JR ~
~ v.~ ~ Rtq{hl··~.q. ~ ~
MMtec(i mFrfatR mm ~ ~ ~ if
qn:ecd4 ~

(A) 0

(B) mv

(e) 2mv

(D) .~~~.'lRf.tm

17. ~ ooe ~ 1m. mt~ ooe m;ftif
~&('1~ ~ ~ eclR'{Hf ~ QJ 'Om

1000e ~ 1 m. :aaHW'lam;:fi~ 1000e
~ m'tfif ii4&H4 ~~ ecli%'0(i ~ Q

2

mol~~~

(A) Q1>Q2

(B) Q2>QJ

(e) Q]=Q2

(D) Q) =Q2=0

18. ~ R ~,df?tCh ih:t R4(iiCh m m 2 nr.
61$41\i1;r'lffi ~ ~ ~ mtft

(A) 312RT

(B) RT

(e) RT
2

(D) 3RT

13/J"REN~. -8- Set- A



19. The superficial coefficient Rf
expansion (3 and volume coefficient
of expansion 'Y are related as :

19. ~ m:m~~hi(f)(3 ~ ~ '5I"fffi

~'Y-qlRm··.~t·

(A) 'Y= 2(3
(A) Y= 2(3

(B) .'Y= 3(3
(B) 'Y = 3(3

. -3

(C)
3 (C) y=-py=-p 22

(D) 'Y = (3 (D) 'Y = (3

20. The. instrument used to detect
presence of current is :

20. 3Q(f)(UI ~ ~um cfit ~~ 'Q(fl

~~~~mort:

(A) ~~.(A)' Ohmmeter
,

.(B) Voltmeter

(C) . Galvanometer

(D) Voltameter (D) cil~eufle{

21. .Two bulbs each of60Ware connected . 21.·"<it ~ ~ 60 ~ lit ~ $fi'lf 1l
i~..series and then to mains .. Power «iQl~d ~.~~ ~.~.~ m
dissipated by the combination of . ~~mtttm 6£(\lmm~:
bulbs is : ~ ..

(A) 120W (A) 120W

(B) 60W (13) 60W·

(C) 30W (C) 30W,

(D) 15W (D) 15W

13/J"REN ':9- Set ..A
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22. In a circuit shown in Figure Q.22, the
current recorded by an ideal. ammeter
A is:

20

22. ~ qftqtT (ftm '!T.lf. 22) if amm
~ A 1ro mtlt t.TRT mTft

20

(A) 2A
(A) 2A

(B) lA
(B) lA
(C) 0.5 A (C) 0.5A

(D) 0.25 A (D) 0.25A

"23. The magnetic field at the centre of
current carrying coil isBa' If its radius
is reduced to half keeping current the
"same then magnetic field at its centre
become:
(A) Bo
(B) 2Bo
(C) 4Bo

(D) Bo
2

24. The electric fuse, used as safety
device for electric appliances in
house holds, is a conductor of
(A) .low resistance and low melting

point
(B) high resistance and low melting

point
(C) low resistance and high melting

point
(D) high resistance and high melting

point

23. ~ urn cutT*!'dlifiR ~UtMl ~ ~ ~
iklJil~ ~Boitm~~:mUt
'ifil~ ~ ~ em ¥!klfA)~~it 'JI1~411

urn~~
(A) s,
(B) 2Bo

(C) 4Bo

(D) ~
2

24. ~ ~ 'iIllffi if ~ ::sqCFl(Un.~

~ wan·~ ~ ~ if Cf)l'qqmn ~ ~

:eciHifi mor ~

(A) awq~~ awq alH"1iCFl 'ifiT

(B) .~~~ awq alH"1iCFlq;y

(C) ~~.~~.'H"1iCFlqrr

(D) ~~"'tfi~'I(W1 ••iCFlqrr

Set-A13/J"REN" -10-



2S. ~Ila'd(lif ~"q\ti!h~'~ 25:0~:fft.
f1ft~~~

j

25. The focal length of a double convex
lens is 25.0 cm, its.power is

(A) 4.0D

(B) -4.0D

(C) O.04D

(D) -0.04D

26. The twinkling of stars is due to

(A) Intermittent emission of light by
.stars

(B) Intermittent reception of light
by our eyes

(C) Continuous varying refractive
index of atmosphere

(D) Vibrations of stars about their .
positions

27. The equation of a wave is given by
y = 2 sin (314t - 2x + 1tI2)m the wave
length of the wave is:

(A)2.0m

(B) 1.57m.

(C) 6.28m

(D) 3.14m

(A) 4.0D.

(B) -4.0D '.

(C) 0.04D

(D) -O.04D

(A)· rtm tm·~-~ ~ mmr cnr
::h'~;i'1qwn

(B) ~;:{~tm~-~~'StCfim

~ 'Cfi'{'1l

(C) ~ ••ugH "$ 3tQcHf'1iCfi.q ~
Q"~d'1

27 •. ~~ ~. <rilT qft ~""i!hror
'y = 2 sin (314t - 2x + 1t12)m m nT
m'rft~t

.(A) 2.Om

(B) 1.57Jll

(C) 6.28m

.(D) 3.14m

1
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28. Two wires made from the same metal
have radii in the ratio 1:2: If the
lengths of wires is .the same, their
resistances have ratio -

(A) 1:1

(B) 1:2

(C) 2:1

(D) 4:1

28. ~ mg It ~ ~ rml c€t 'fi?r\RfI~ 1:2 if
fm~·~qrr~mm~
~ MMfI$t4i ~i' :

(A) 1:1

(B) 1:2

(C) 2:1

(D) 4:1

- 29. Atorch bulb is rated as 4.5V ,200mA. . 29. ~ ~ ~ ~t'~~ 4.5 eft, ~OOiir.'t(.
Its power is m~ wRI; ~

(A) 2.25W (A) 2.2SW

(B) 4.4W (B) 4.4W

(C) O.9W (C) O.9W

(D) 9W . (D) 9W

30. The source of solar energy is :

(A) Nuclear fission

(B) Nuclear fusion

(C) Burning of natural gas

(D) Burning of lignite

13/.JREN -12- Set-A
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31. Various House-hold electric lines ale
connected in:
(A) Series

(B) Parallel
(C) Combination of (A) and (B) both
(D) In series with mains and then

parallel

32. A radio-active substance is one which

(A) decays spontaneously emitting
radiations .

(B) is used to designradio parts

(C) is used in radio communications

. (D) has property of attracting radio
waves

33. Which of. the following is a
fundamental particle having no sub
structure:
(A) Proton
(B) Neutron
(C) Electron
(0) Deutron

34. A concave mirror has focal length
15cDl. If an object is placed at a
distanceof 30 cmfrom themirror then
image formed by the"mirror lies at a
distance (from the'mirror) :

(A), less than 1.5.0em

(B) between 15.0 em and 30.0 em

(C) 30 em

'CD) beyond 30 em

31. l.R~'Am -~~~~'iffift

t
(A) .$1of\Sfiqit
(B) eqIRt< 'SfiIf it
(C) (A)~ (B) cir.iT ~eJl'i1"it

. (D) .~ ~ '$ ~ itmm it
~ eq14t( If)1f ..q

32. ~ tTlff ~ ~ ~ t \ifT

(A) .f!lftti(Ot amfQfd (fi'{.~: ~QRd
~l .

(B) ~.~'$ ~ q:)JP\qiul
llorl

(C) ftr.t ~liT.m ...q f.611:{ ..q ~
~t

(D) ftR1t~ trim Cf)) atlChf'ia ~
q:)J'!\Vf 1lor .t

33. f.t1::fit.m~'ChVft~e4it aqe«=e ••,
~~

(A) Jim;{
(B) ~

(C) $MifC}1=4

(D) "+il'"

34. 15~. c6\Chet6'~.~~'$
~~ ~"'q"( 30~.1ft'.~ ~~
·m~·nT~.~~m~'Cf{
's.fdfilQi ~ ,

(A) 15.0~1ft'~~~~

(B) 15.0~ 1ft'"'"3tJ:O~ 1:ft '$$

(e) 30~lfh
(D) 30~1ft'~~'¢'q"(

13/.JREN -13- Set·A



35. Amart wants to see his full image in a
mirror. If his height is h then
minimum height of mirror needed is :

(A) 2h

(B) h

h
(C) -

2

(D) h.
4

36. Half life of-a radio-active substance .
is 2 years ..The amount of substance
lift after 6 years is . :

35. ~.~ Mfic€lMAtI$ h ~ ~ ~
fi q HMGtfm' if 3rq;rf l{U 51Rt ~ At ~

~ m Gtfm' ~ rl{'1H1'4 ~ mrtt
(A) 2h ,

(B) h

.,h
(C) -

2

h
(D) -

4

36. ~~~~&d~2~~1
~d cfiT"·lffirf ~. 6 .qtf ~ ~. WiT
'CfW

(A)
1 1- (A) 16 ~ I16

(B)
1 1- (B) -~I8 8

(C) 1 1 .- (C) -t I4 4

(D) 1
1t- (D) - I6 6

, 37. Which of the following source of
energy is non-renewable :

(A) Solar energy

(B) Ocean energy

(C) Biogas energy

(D) Coal energy

37. ~ it·cni";r 'fiT.~ ~ 9;14J\;ft cfHO I
10nt -;rtf t
(A) r-m~.
(B) q~lflI41t\ii ~

(C) ~ ..~~

(D) €flliiMI~
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~. The nuclear energy is produced due to-,

(A) chemical reaction

(B) loss of kinetic energy of one
reactant

(e) loss in electromagnetic potential
energy

(D) conversion of a small part of
mass into energy

39. The velocity ofa galaxyas it moves
away from us as per Hubble's law :

(A) remains constant

(B) increases with distance

(e) decreases with distance

(D) first increases and then
decreases

is for : .

(A) Extending communication
network .

(B) Study of weather parameters

(e) Remote sensing
,

(D) Astronomical studies

38.· ;)rf1f;Q4~. ~ Cfrrctm'OTi

(A) (l~14~Cfi ,fffi4l

(B) ~~3ff1fCf)4Cf) rIrr~ ~
it lTf.\" .

(e) ~tJlOiq;Q4~~itlTf.t

(0) WSQiil;)'ii ~'Cf)l~it ij~(lf41

39. ~ ~f.t(U4la~1{ ~'<l' ~.~
rzhJI (\Cf)I CfrrWe

(A) ~~i
(B) ~'ii~-amrr~'i

(C) ~~mtf,q;lf~\itlmi

(D) ~ ~ i~ 'Cf)l{itm.\itlm i

. 40. The satellite used in weather 40. \itl ~ ~ efft \!I~Qlcuoft "$,'Cfill{
forecasting is : :matt
(A) Geostationary satellite. (A) 'l-~ ~
(B) Near-earth satellite (B) . 'l-~~
(C) Polar-orbit satellite (C) p-Cfi~~

(D) Equitorial orbit satellite (D) ~-l.6a{~

41. The Indian Rohini Satellite Mission 41. \!I'ffifCfrr .?ttloft-~ ifm';r Cf)T~ i

. ,

(B) ~-~ q(\••••"" Cfrr ~

(C) "{t-~
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42. A particle moves onthe circumference
of a circle of radius r. Starting from one
point particle reaches to its diametric
end in.time t. The magnitude of average
velocity of the particle is :

1tf
(A)

t

1tf
(B) 2t

r. (C)
t

2r
(D)· t

43. Rocket jet works .on th~ principle of

(A) Bernauli's principle

(B) Conservation of angular
momentum

(C) Newton's third law of motion

(D) Archimedies principle

. 44. A simple pendulum oscillates with
maximum displacement eo' The time
taken when pendulum displaces from

o to eo is tl a~d time taken when2 .

pendulum displaces from e~ to eo is
t2then what is true
(A) tJ > t2
(B) t2>tj
(C)t1 = t2
(D) t2 and tJ are not related

42. ~ 'eJ)UT~ q~ tR TJfff ~ % Mf14fl
~rtl~~~~~'q~

. ~ t~-ij emm~& ~~~m
'tfi'Ol ~ ~ ~ CfiT q fhllOI ~ I

(A)
1tr
t

(B)
nf

2t

r(C) -
t

(D)
2r
t

43. ~~m~;;s ••..d~~·~~

~

(A) at<~TM1~;;S:I;:aII
(B) Cf))ofl~liWT-maror enr fu;;g:r.:q~ I
(C) ~ cnrlTftt CfiT ffu:m f.t?;rq ~ I

(D) ~,Fctfllil~ ~;;S:I•.d ~ I

44. ~ ~(W1IHCf) ~ ~ eoit

~~~I MIHCf) O~ e~~

~.q~tJom e~ ~eo~~
.q~t2 ~oT(feIl~~-

(A) t} > t2

(B) t2> tJ

(C) tl = t2

(D) t2'Cf tJ .qct?tl~~~
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45. A particle starting from rest and
moving under constant force
displaces by Sl in time J. It shall
displace further by distance S2in time
from t to 2t, then what is true,

(A) S2= 2s1
(B) S2 = 3s1

(C) S = 4s2 1

(D) SIs=-2 2

45. ~ 1.fiUT ~ ~ ~'g''1T<Iit TI'ftlr q;@ ~

~~m~~~t~ifsl
~~~~wmt~2t~if S2
~m'ffi:q:qr~t? .'

46. Two.bodies of equal masses attract
each other with a force 6.67 x 10-IlN
when placed ata distance 1m apart.
The mass of each body is

(~) 0.1 kg

(B) 1.0 kg

(C) 2.0 kg

(D) 4.0 kg

.47. A body placedon the earth's surface
has weight w. If the earth shrinks to
half of its radius' keeping mass the'
same. The weight of the same body
placed on its surface now shall be -

(A) 4w

(B) 2w

(C) w

w
(D) .4

(A) s =2s2 1

,(B) S2;::3s1

(C) S2=4s1

. (D)

46 .. cn~ ~ $(&Ci'lI011~·~rit ~ 1
1ft. ~Wlf~toT~6.67x 10~1lN
~ ~ ~ ~.CfiT .31 IChfild 'Ch'ffl t, it
~ ftrvs cnt $(644104 <fiTltf;:r t
(A) 0.1 'Fc6.!TI'.

(B) 1.0 ft6.m.

(C) 2.D~.m.

(D)4.0~.m.

47. ~mcm·'t-lWrm-rorrm-'tR~
~. w t 1<ri=e:1l~ ~ ~S(&cqlO4

~~~~~,3llUT~~

~ ~ ~ ~ m tfiT 3R ~-m;r
~m-~~.~1Ttrr I

(A) 4w

EB) 2w
(C) w

w
(D) 4
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48. The period of revolution of a planet
about the sun is T. If a is radius of the
.circular orbit, then. what is true?

(A) Taa

(B) Taa2

49. The gravitational attraction between
two masses placed at a certain
distance depends on :

(A) Gravity at that place

(B) Presence of other bodies

(C) Medium in which placed

(D) None of the above

50. The main force that keeps two atoms
at definite distance in a diatomic
molecule is :

(A) Electrostatic force

(B) Magnetic force

(C) Gravitational force

(D) Nuclear force

(A) Taa

(B) r « a2

49. 1% f.1~o ~ '~"di~Tffq) ~3lT ~~

?h14?hI:O~('6II?htlOI ~ ~CfffifT t :

(A) ~~et;~1:R

. (B) ~~m~~~1:R

(C) m~~~-mfit

(D) ~-ij~~m

50. 1% i{q(ql'U?h &'U -ijGJ;it q(qlUjm cn1
f.1ij'.qoW 1:R~ -ij~. ~.fm:r
~~~tCffl

(A) W'&f(·~~t I

(D) ~~tl
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Section- B
Chemistry (Q.No.51 to 100)

51. The ground state electronic
configuration of 24Cris -

(A) [Ar] 3d54s1

(B) [Ar] 3d44s2

(D) [Ar] 3d64so

52. In a thermite process, the reduction
of metallic oxides is done by-

~··-·lf.
HtlfI;W lTmf ('Sr.~. 51 ~ 100)

51. 24Crcffr~ ~-q- $Hi!f?If.OI6hPc1~IR

t-

(A) [Ar] 3d5 4s1

(B) [Ar13d4 4s2

(D) [Ar] 3d6 4so

52. ~ SlftFil41 -q-ulfffi6h 3'flq;fll$sl cnT

3'fqitl4 •••~ ~ 't -
,(A) Al (A) AlaTU

(B) Na (B) Na1!fU

(C) ~ (C) Htm2

(D) CO (D) COtm

53. Covering of iron sheets with a layer
of zinc is called-

(A) zinc plating

(B) galvanising

(C) tinning

(D) electroplating

53. ~~ ..~'6hl~~~.~.~
t.:rr6h~MI"I t -

. (A) ~ cHRal

(B) ~M<l41$f\ftal

(C) ftf.m

(D)· $H~lcHR41
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54. The solubility of which among the 54. f.iqff=tf{ga.q."« ~ 'tfGT~ cfit fuM4111
following substances, decrease with I1NlOIH ~.~ m~ ~~?
rise in temperature ?

(A) NHCl4

(B) KN03

(C) Na2S203

(D) Ca(OH)2

(A) NH4Cl

(B) KN03

(C) Na2S203

(D) Ca(OH)2

55. The enzyme pepsin converts - 55. l{;:;:jil$q ~ qRq~d (f;UfT t -

(A) proteins to amino acids

(B) fats to fatty acids

(A) mtr.:r cit ~ .~.q.

. (B) qm~~~~

(C) glucose to ethyl alcohol

(D) starch to glucose

56. Equal volumes of two solutions with
pH = 4 and pH = 10 are mixed. The
pH of resulting solution will be-

56. pH = 4 ~ pH = 10 ~ m PcI~4;(i $t
~'fffitT ~.q. ~~ 14"\ lPtt Iq RUillft
PcI~lI"1CfiTpHm-m -

(A) 3.5
(A) 3.5

(B) 6.1-
(B) 6.1

(C) 7.0 ,(C) 7.0

(D) 14.0 (D) 14.0
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(A) s- ~Cfil
.(A) s-block

(B) p-block

(C) d-block

(D) f-block

58. In a period of the periodic table as we
move from left to right usually-

(A) atomic radius decreases

(B) ionisation potential increases

.(C) 'electron affinity decreases

(D) electronegativity increases

Among the above statements, which
one is false,

59. Which of the following acts as a
catalyst in the-hydrogenation of
alkenes?

(A) Ni

(B) Mn

(C) Mn0z

(D) V20S

57. The element witha,tpmic number 50 57. q{q1CUSi)4ii6h50 'CfTm m:q ~ t -
is a member of-

(B) p- ~Cfil

(C) d- ~Cfil

(D) f-~enr

58. ~ 'ID'{1J'ft .q$Fffift .~ .qGmff ~ .
<wff aiR. ~. ~ Jl1?f:- '

(B) 3Wt.A~~t I

59. ~{i4il;4$ 61$~):;jf;ft6h{OI.q~.q~-m

~ 3('~{q) q;r '6h1'4cnmt ?

(A) Ni

(B) Mn

'(C) Mn02
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60. 2~~U,2~~Uand 2~~U are-

(A) Isomers

(B) isotopes

(C) isobars<,

(D)'-~sptQnes

61." The disaccharide present in milk is-

(A) . amylose

(B) . lactose

(C) sucrose

(D) glucose

62. Which of the following are
isoelectronic ?

i). K+

ii) Ar

iii) CI-

iv) Ca2+

(A) All

(B) K+,Ar and Cl

(C) Ar Cl and Ca2+,. .

(D) K+and Ca2+

60.~U, ~U ~ ~U ~-

(B) ~~

(C) ~

61. ttU 1l.-qT<fT ~ ~ srl~q;~
(disaccharide) i -
(A) ttiH$Hl'it

(B) ~ctGl'it

(C) ijSblG1

(D) "-• <1\Cf) I'it

i) K+

ii) Ar

iii) Cl-

iv) Ca2+

(A) ~

(B) K+,Ar~CI-

(C) Ar, cl-lfi Ca2+

(D) K+lfiCa2+
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63. A. bivalent metal has. 37.2 equivalent
weight. The molecular weight of its
chloride is-

(A) 216.6

(B) 148.8'

(C) 145.4

(D) 172.8.

64.. Number ofatoms present.in 1.8gH
2
0,

1.1g NH3 and 1.6g CH4 has the
following sequence-

65. X+, yz+ andZ: ions are isoelectronic
of COz. The sequence in number of
protons in these ions will be -

. (A) X+ = y2+= Z:

(B) X+ < yz+<Z-

(C) Z-<X+<yz+

(D) yz+ <:X+<Z-

63 •. ~ ·fl~:h:fl'ii) Ul"g (bivalent metal) em
. g(WOficii'l.~372 t I.~ &+I)"$i tm
~t-
(A) 216.6

(B) .148.8

(C) 145.4

(D) 172.8

64. 1.8 'UM HzO, 1.7 ~ ~~1.6ll11J

CH
4
*q\ql,?!3iT'cii'I'~enr~t-

65. X+,· y2+ 1tCi z: ~";f CO2 .~
«q$~6R},f.\q:) ~ I ~ mif;r 11ft ~
tnT~iml-

(A) X+ =yz+ = z:
(B) X+<yz+<Z- ,

'(C) Z-<X+<yz+

(D) yZ+<X+<Z-

13/.JREN
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66. Which, of the following metals
produce H2 gas on reaction with cold
water? :

(A) Hg

(B) . Sn

(C) Al

(D) Ca

67. Which of the following elements has
maximum electronegativity?

(A) F

(B) CI

(C) Br

(D) . I

e '

66. f.:tq.q. ~ ~ ~ ~.~ ~ frfim cnt·

H21R:r~~~?

(A) Hg

(B) Sn

(~) Al

(D) Ca

67. f.I~rMfuh11f~· ~ 'OfCf -dil ~«$1

~OI/('JOICh('1I~ t ?

(A) F

(B) Cl

(C) Br

(D) I

68. Depletion of ozone layer is caused 68. ~lf&'Chl ~mort-
by-

. (A) CO2
(A) c02~am

(B) Chloro fluoro carbons (CFCs) (B) ~~~ (CFCs) $am

\ (C) CH4 (C) CH4$'IDu

(D) Oxides of S and N
(D) Swi N ~ 3i ICFfII$&:ti $ am
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()9. '~. CfEri' \jf) ~.fi\81~q:; fql(tf)1 q;)

.~ qfaHfI ~ , Cf8 ~:. f.h~f{;jf&"
cirr~~CfmVf~~ -

(A) CFCs (~~~)

(B) .S~ N ~ 3flc:ml$$,(fi

(C) CH4.·

(D) CO2

69. The 'acid rain' which damages
historical .monuments .is caused
mainly by the presence of-

(A) CFCs (chloro fluoro carbons)

(B) Oxides of Sand N

(C) CH4

(D) CO2

70. The 'global warming' is mainly due
to which gas?

(A) N20
>

(B) °2

(C) CO

(D) CO2

..."
70. '~Mlq~mfiftT'~: ~~~cnRUT'

~t?
(A) NO2
(B) °2

(C) CO

(D) CO2
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72. The ore of AI, 'bauxite' is - 72. Al CfiT ~ 'iSlICfAI$a' t -

(A) AI203 (A) AI203

(B) A~03·~O (B) A~03·~O

(C) A1
2
03.2H2

O (C) A1203·2H2O

(D) Na3AIF6 . (D) Na3AIF6

73. The main constituents of alloy 'brass ' 73. ~~~'~'~~~i-
are-

AlandMg
(A) Al~Mg(A)

(B) Fe and Cr (B) Fe~ Cr

(C) CuandSn (C) Cu~Sn

(D).CuandZn (D) Cu~Zn

74. An essential constituent of 74. '3'4'WI4IQ'.q. 3t1q:jilcti ~ 't - .
'amalgam' is -

(A) Al
(A) Al

(B) Ag
(B) Ag

(C) Hg
(C) Hg

(D) Au
(D) Au
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75~ '~~.~' S1~ah,~ \ifl'(ff.

t-
(A) TI&m

(B) Pbam

'Inert pair effect' is shown by _.

(C) Bi'IDU

(D) ;aq4:m·~ ~ am

J.

(A) TI

(B) Pb

(C) Bi

(D) all of the above

76. Which of the fol!owing is a physical
change?

(A) Burning of acandle

(B) Clotting of blood

(C) Evaporation of water

(D) Digestion of food

77. Which of the following subshells is
not possible?

76. f.f ••••~Rsan .q.g.~ ~iW'Rlif)qR4J;:j

t?

(A) lfu:f cnr ~ ,
•

77. f.f ••••~Rsan ;aqcnl:to .q .g .~ m ~
~t?

(A) Is (A) Is

(B) Ip (B) Ip

(C) 2s (C) 2s

(D) 2p (D) 2p
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78. Which of the following will liberate
BI2 from kEr? .

(A) n,
(A) H2

(B) . 12

(C) Cl2

CD) S02

(B). 12

(C) Cl
2

CD) S02

79. Fe, Mg and Co are present, 79. Fe,Mg ~ Co ~ \ifffi ~ ~:-
respectively, in-

(A) ~l~lftf";f , "qn:rh~l~";f ~ci
(A) haemoglobin, myoglobin and CfMj~)ftbM it

chlorophyll

(B) haemoglobin, chlorophyll and (B) ~¥ij4MiRtOi, CWljilfQ:;M~ RtlifilOi

B12~vitamin BI2

(C) chlorophyll, vitamin BI2 and (C) ~T~TfT.Fi~,. ft:r?:lilf";fBI2 ~ci
, '~ ~myoglobin tjliWMI 4

(D) vitamin B12• haemoglobin and (D) fcrl~ B 12 ' ttmTMtftR ~ci
chlorophyll "fil ~CfRHI 4'lM

80. The amount of electricity required to
deposit one mole of Al from a
solution of AICl3 will be-

80. AICl3$ f6t&t4Oi~ I~ Allt€fi8lo ~
it. 3ilq'14€fifCI~Y;d ~ lIDTT &Trft -

(A) 3.0 Faraday

(B) 1.0 Faraday

(C) 1.33Faraday

(D) 0.33 Faraday

(A) 3.0~

(B) 1.0~

(C) 1.33~

(D) 0)3 ~
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(A) s::&04"' ••.• ~·m

(B) 3IIOI~CfiS::C4"''''' m

(C) q("'111~ m
(D) q(ql'tl d"lqiCb'Q'(

81. The modem periodic table i~based on- 81. ~ ~ "frroJft 3l'fUTfto t ,..
(A) mass number

(B) molecular mass

(C) atomic radius .

(D) atomic number

82. Which of the following is a
renewable source of energy?

(A) Coal

(B) Petroleum

(C)· Natural gas

(D) Solar energy

83. Among the following fuels, which has
highest calorific value ?

(A) Bio gas

(B) Kerosene

. (C) Coal .

(D) Hydrogen gas

84. Which of the following ores is
concentrated .by 'magnetic
separation' process?

.(A) zes
(B) AI

2
0
3
.2H

2
O

(C) Fe304

(D) Fe203

82.· PI~•••fM f~ d # ~ C61-;pn ~\jff C6T

.•.•d1Cfi(ofltt ~(renewable source of
energy) % ?
(A) Of)1~<11

(B) q~f{;jtl'"

(C) .$I 1i> n1tfj iR:f

(D) ~~

.83. Plkfw,fuid ~u;it.q~rc.)(=tch)3'lwfl~l:Ir.l.
(calorific value) ~ ~ ?
(A) ~iR:f

(B) ~(1~'"
"(C) Of)IttMI

(D) 61$~);ji4 ihl

84. PI·kf.~fuid.q·~ ~ ~ C6T «I •.S::01

'tiklch)~ '1l~Cfi€f)(OI ftriU' (magnetic
separation) -$·tJU ~ ~ % ?

(A) ZnS

(B) A1
2
0
3
.2H

2
O

(C) Fe304

(D) Fe203
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85. Which of the following non metals is
. a liquid at room temperature?

(A) Hg

(B) el2

(C) Br2

(D) 12

86. Deficiency of which vitamin may lead
to 'night blindness'?

(A) Vitamin A

(By Vitamin B

(e) Vitamin E

(D) Vitamin K

87. The number of 0' and 1t bonds in a
molecule of acetylene respectively..
are-

(A) 30' and 21t

(B) 20' and 31t

(e) ·50' and 21t

(D) 50' and 31t

88. On reaction with water, A14e3 gives -

(A) methane

(B) ethylene

(C) acetylene

(D) propene

,

85. f.lq~f{gt1lf~.~ ~mg;,~~mq
~,1fCfi~~ ?

(A) Hg

(B) ci,
(e) Br2

(D) 12

86. ~ fqGI(4Oi efilCfilft~ 'mlUt'm~
t?
(A) RfGlfliOi A

(B) RfGlflIOi B

(e) RfGlfli4 E

(D) RfGI(4Oi K

87. I{fftfl(v(hf$l% ~.q 0' ~ 1t~m~
~t~:-
(A) 30'~ 21t

(B) 2(j~ 37t

(C) 50'~ 27t

(D) 50'~ 37t

.
88. ~$m~~cm-l:R Al4Q

3
mnt-

(A) ~~

(B) ~

. (C) I{fftflH)""I

(D) ~
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89. The base - sugar - phosphate unit'
present in the nucleic acid is called as-

89.. 4\{CR;tcti~.q~~-:,&TR-mu-
lfil~G_~cit~~ -

. .
(A) nucleoside

. (B) nucleotide

(C) codon

(D) gene

(A) 4\f#tiilftl$S

(B) 4\fi*t(itGi$S

(C) €hlsI••

\
\

(D) .~.

90. - Which of the following is strongest
acid?

-(A) HOCl
. ,(A) HOCI

(B) HCI02

(C) 'HCI03

(D) HCI04

(B) -HCI02

(C) HCI03

(D) HCI04

91. Among the following metals, which 91. f.p:f.q~~ ~.~ ~~~~
does not produce H2gas on reaction HziR:r ~ ~ cn«ft l ?
with dilute acids?

i) Zn i) Zn

U) AI ii) Al

iii) Hg iii) Hg

iv) eu iv) Cu

(A) ZnandAl (A) Zn~Al

(B) Zn and Hg (B) Zn~Hg

(C) HgandCu (C) Hg~Cu

(D) Hg and Al (D) Hgl{Cf.Al
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(A) MO

(B) ~O

92. Anelement M having mass number
27 has 14 neutrons in its nucleus. The,
formula for o*ide of this element will
be -

(C) M203

(D). M02

93. Which solvent is often called a
'universal solvent'?

(A) Bromine trifluoride

(B) Water

(C) Liquid ammonia

92. ~ m:qM CfIT~04q 14 ~ 21 t nm
~~-ij 14~~ tFtm:q~
3iICffiI$s enT~ iI1rr,-

(A) MO

(B) ~O

(C) ~03

(D) M02

93. m-' RWI14Cfi cnt >I1<t: ~ RWI/4Cfi

~~~?

(A) ~ ~1$Q+ih'$s

(B) ~

(C) Wl 3"I¥flR4i

(D) Liquid sulphur dioxide, (D) Wl~ ~ 3iiCffii$s

94. M(g)+ e ~ M~) + E 94.M(g) + e ~ M(g)+ E

'In the, above equation, E represents - 341m fiaflCfi(Oi -ij E R,~fClden«n ~ _

(A) electron affinity (A) $&\~i'" ~ .

(B) electronegativi'ty

(C) first ionisation potential

(D) second ionisation potential
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95. The crystal-of K(}l.consists of- 95. KcrRM:e~ ~~t -
(A) KClmolecules (A) l(Cl~m~

(B) K and Cl atoms (B) K~ Cl q{iU,!!.m~

(C) K+and Cl ions (C) K+~Cl-~~

(D) molecules, .atoms and ions (D) ~3ll, q(QI,!!3ll ~-~ ~

..

96. The water soluble vitamins are - 96. ~ -q.~ Rftllll41 ~ -

(A) BandC (A) B~C

(B) AandH (B) A~H

(C) B~ndD (C) B~D
_. -

(D) AandD A~D
-.

(D)

97. Which of the following statements is
incorrect?

(A) . Cellulose is a polymer of B-
glucose.

(B)· Proteins are polymers of amino·
acids. ,

. (C) .a(\H1"1~ qT&l"iqql$$ d4s~Cfi11
(C) Terylene is a polyamide polymer

(D) aQfilI\1d4s~$(6T \(CfiHCfi a~llJM'i{1

~tl.CD) The monomer of Teflonpolymer
is tetrafluoro-ethylene,
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98. Which of the fol1owip,g",A:s.,~weak
electrolyte?

(B) KOH

(e) KeN

(D) HeN

99. The volume occupied by 2 gm 02 at
2rC and 740 rum Hg pressure will
be -

98.

(B) KOH

(e) KeN

(D) HeN

99. 27°e ol1:n~ei740 mm Hg ~ 'Q\ 21JllT
02wn itu 1'11lT~ ittn-

(A) 1.40~
(A) .1.40 litre

(B) 1.58 litre (B) 1.58~

(e) 2.86 litre (e) 2.86~

(D) 4.20 litre (D) 4.20~

100. Natural rubber is -

(A) neoprene

(B) cis-polyisoprene

(C) trans-polyisoprene

(D) polybutadiene

100. $I1'tlRit6 ~ ~ -
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Secti~n/~ C .
Mathematics (Q.No. 101 to 150)

101. Simplified form of -

2 3 1x -1 x-
--. _. : 2 ' is
x +I . x +x+1

(A) (x - I)

(B) (x + 1)

(C) r+x+ 1

(D) 1

102. Sides of a euboid are 3 em, 4 em, 12
. ;,'t'

em then the length of the diagonal of .
a cuboid is .:'

(A) 15 em

(B) 7em

(C) 16 em

CD) 13 em

103. Area of floor ofa .room is 48 sq.m. If
its height is 5 m,then the volume of .
theroom is:

(A) 240 sq.m.

(B) 240eubic decimeter .

(C) 2,40,000 eubic decimeter

(D) . None of these

L/ ~ - lfi·

~lfOl6 (ST. "SE.101 ~ 150)

2 3 1x -1 x -. .
101. . + 2·· . CfiTH'lM'1,{ ~ ~ :
. x+l x +x+l

(A) (x -1)

(B) Cx+ 1)

(C) x2 +x +1
•

I(D) 1 .,

102. ~~'®~wm:3~.lft.,4~.lft.
'Om 12 ~.lft. t I~· ~ ~ c€t
M44I$ mtft:

(A) 15~.

(B) 7~.

(C) 16~.

CD) 13~.

103. ~~~~Cfif ~ 48 em +ft. tl
~~.~ 5lft.mm~CfiT
~mrn·:
(A) 240 qrf lft.

(B) 240 er.:r m:tt lft.
(C) 2,40,000 tr.l~ +ft.
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104. Height and radius of a cylinder are
increased by 10% then the volume of
the cylinder, is:

(A) 33.1%

(B) 40%

(C) 10 %

(D) 100 %

105. A right angled triangle rotate about
its any side which makes right angle,
the figure is formed: ·

(A) Cylinder

(B) Prism

(C) Sphere

. (D) Cone

106. In two sphere radius of one is half of
.the other then volume of second
sphere with respect to first, is :

(A) Double

(B) Four times

(C) Eight times

22 .
(D). 7" times

104. ~ "ai~ e€t .i;~ 'Om 3lT~ Gl';IT
10 %~. cft~, m~rt~-ij
~itTft :

(A) 33.1%

(B) 40%

(C) 10%

(D) 100 %

105. ~ fO'iCfilUr ft£~~ c€t ~tlJT ~

"Sfl"ffi' ~ ~ WifT ~ "Qftn: wrR' ~ .
f.I1lfo ~ itTft :

(A) ~

(8) ~

(C) Tilm

(D) ~.

106. GTmffi-ij~~~~~:mm~,
m~·~·cnT~, ~~~
cnTWm:

(A) .~

(B) ~~

(C) .3ITO~

22
(D) -. ~

7
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107. ~ x = 2 sirr' 9 'Om y = 2 cosz9 + 1or
x + ytnTlfRm-m:

107. If x = 2 sin2 e and y = 2 cosz9 + 1 then,
the value of x+ y, is:

(A) 2

(B) 3

(C) 1

(A) 2

(B) 3

(C) 1

1
(D) 21

(D) 2

2 tan 30° - .
108. Value of 1+ tan2 300' is equal to

(A) sin 60°
(A) sin 60° '*
(B) cos 60° '*(B) cos 60°

(C) tan 60° (C) tan 60° '*
(D) sin 300~(D) si1l30°

1- tan2 45°
109. Value of 1 '24- 50 is. + tan

1..•.tan2 45° . .
109. 1 2450 tnT lfA m-m ,+ tan .'

fA) tan 90°
~

(B) J

(C) sin 45°

(D) 0

.(A) tan9Qo

(B) 1.

(C) sin 45°

(D) 0

i

t
t i
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110. Sin2A =2 sin A is true when A equals
to

(A) 0°,

(B) 30°

(C) 450

(D) 60°

111. The angle of elevation of the top of a
tower from' a point on the ground,
which is 30 m. away from the foot of
the tower, is 30° height of tower is : ,

110. Sin 2 A = 2 sin A~l«~"'~'m~, ~'
A~~:

(A) 0°

(B) 30°

(C) 45°

,(D) 60°

111.~~~~~, ~lfr.:rR~~~~'
30 1ft.~ ~ "Q'{ ~ Ilftm ~ ~ q;y

~~.30~t l~tfiT~~,

10 10
(A) ,.[3m.(A) .[3m

(B) 10.[3m (B) 10.[3 1ft.

(C) 15Jim (C) 15Ji lft.

(D) 15m (D) 151ft.

112. ABC and BDE are two equilateral
triangle such that D is the mid point
of BCiRatio of the areas of triangles
ABC and BDE is : __ --,--_

(A) 2: 1

(B) 1:2

(C) 4: 1

(D) 1 : 4

112. ABC3fRBDEc{r«qcq~~~~~
~D~BCcnr~~'~ I'~
ABC3ittBDE~~q;r~~,

(A) 2: I'

(B) 1 : 2

(C) , 4: 1

(D) 1 : 4
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113.GT«q{;q~qft~4:'9$~
, it~'I~~$~51q:;~Tq;y~~ 1

(A) 2:3

(B) 4: 9

(C) 18: 16

.(D) 16: 81

C ,

(A) 100sq. em (A) 100q7f.~.
(B) 50 sq. em (B) 50q7f~.
(C) 150 sq. em (C) 150q7f~.
(D) 200 sq. em (D) 200q7f~.

113. Sides bf two similar triangles are in
the ratio4 : 9. Areas of these triangles
are in the ratio --

(A) 2:3

(B) 4:9

(C) 18 : 16

(D) 16: 81

114. In a given figure ABCD is asquare, if

AC=20.fi emthen Area of L\ABCis'

115. Diagonal of first square is half of the
diagonal of the other, the area of
. second square of the area of the first
square will be :

'(A) Double

(B) Halved

(C) Four times '

'(D) Eight times

114. m 'if ABeD ~~ qTf, ~ 'I <f~

AC=20J2 "it:rft. ~ m L\ABC ~T

~Wn:

115. Glqlll it ~ (fiTR;tCfiui ~(fiT 31fUT~I '

m~q7fCfiT ~~ct~'
~Wrr:

(A) ~

(B) 3fTm

(C) -:em~~"r

(D) ~"TU'
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116. ilABe .is made on diameter in
semicircle. Such that LBAC = 30°, the
value of LBeA is :
(A) 30°
(B) 45°
(C) 60°

(D) 80°

117.In a given figure ABeD is cyclic
quadrilateral, in which LDAB = 80°
then measures of LDCE is :

(A) 80°
(B) 90°
(e) 120°

(D) 140°

118. In a given fig. a circle with centre 0,
radius of circle is OP = 10 em and,
chord PQ on which OR = 6 em is
perpendicular, length of PQ is :

116. 't%. ~ -q'0lffi=l 'Q'{ q;:rr ilABe ~ I
fGtfi€hILBAC = 300~ ILBeA ~lfR
mrrr :
(A) 30°
(B) 45°
(e) ,60°
(D) 80°

117.~m.q ABeD~~~~ I
fGt~€hT iii1i%tS€hl'UT DeE ~ltfm
LOAB = 800~m, LOeE CfiTlfRmm :

(A) 800

(B) 900

(e) 1200

(D) 1400

118.~m,q~'Vlt, ~fi€hl ~ at I
~ OP = 10 ~.3fu: ~ PQ"Q'{·
~OR=6~~mPQ~tl

(A) 4cm
(A) 4~

(B) 8cm
(B) 8~(e) 10 em (e) 10~

(D) 16 em
(D) 16~
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11 . Chord AB = .10 em 'of a circle with
centre 0 produce AB such that
P = 8 em and a tangent PC drawn

fr m P.on'the circle, the length of PC
is .

(A) 144 em

(B) 18 em

(C) 12 em

(D) 10 em

. 120. Distancebetween centre of two circles
is 4.5 em. their radius are 2 em and
2.5 em respectively the ..number of
tangents that' can be drawn on them
are equal to :

(A) 1

,(B) 2

(C) 3
,(D) None of these

121. ABCD is a cyclic' quadrilateral, PBQ '
is a tangent drawn from the point B
of the circle, if LDBP = 65°, then I

measures of LBCD is :

(A) 65°

(B) , 90°

(C) 110°·

(D) 115°

119.V'~~AB=10~~ IWnAB
~. B '~, 8 -IDft ,~, "CR 'Ffi ,~ f Wfm
lTm~ I~P~'~~,~,'#snPC
~Tp:ft~ ImmmpCcf?tMPStI$,

~-
(A) 144~

(B) 18~

(C) 12 IDft

(D) 10~

120. q) ~ $~ ~ «tfu cf?t~ 4.5 lPft,
~,~~.q~: 2lPft~2.5
lPftt ~-vrr~ fcf;(Fft ~~~
~~~I

"

(A) 1

'(B) 2

(C) 3.

(D) ¢~~~

121. ABCD~~~~ Ivr~~
B~~~ PBQ~l1<ftt 1m
LDBP = 65° m,.", LBCD Cfi1'1:rR

~I

(A) . 65 °

(B) 90°

(C) 110°

(D) 115°
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(A) 18

(B) 16

(C) 20

(D) 22

122. Median of the data

6,9, 11,.14,18,22,28, 31,34 and 43,
is :

123. The arithmetic mean of 1, 2, 3, ------ n
is

(A)
n+l
2

n-l
(B) 2

,122. 6,9.11. 14, 18,22,28,31, 34 ~43,
~ 1Of'fUrCfil t, .

(A) 18

(B) 16

(C) 20

(D) 22

123. 1, 2, 3, ------ n 'CfiT etCl4lOft( lffDf t

(A)
n+l
2.

(B)
n-l
2

nn (C) -
(C) - 22

nn (D) -+1(D) -+1 22

. 124. The measures of central tendency
mean, mode, median are connected
by a relation.

(A) mode = 3 mean - 2 median

(B) mode = 2 median -- 3 mean

(C) mode =3median - 2 mean

. (D) mode = 3 median + 2 mean

124. <fi •.s04 ~ ~ tCIQ&)1, ~, lnWCfi

0?tT GlS(W1Cfi.q ~ t I

(A) atS(W1Cfi= 3 lff~ - 2~

(C) at!J(W1Cf)= 3 mwCfi - 2 m~

(D) at!J(W1Cfi= 3 ~ + 2 ~.
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j \.12. •W.hich of the following isnot-a
.l.lt\~easures of central tendency? .

(A) mean
\
\

CB)\ median.

(C) mode

(D) standard <leviation

126. Rhombus box is known as : -

(A) Decision Box .

(B) Output Box

(C) Input Box

(D) Terminal Box

127~Shape of the decision box is :

125. f.tq .q. ..~ •. ~ $ijfl4 .-~ ~
~.'i I

(A) lff~

(B) lff~

. (C) it§~tfi

(D) ~ rc.:a~4

126. '@f - ~ ~.itm. 'l : .
(A) . ~U,f4Cf) ~ .

(B) ~.~.

(C) ~~

CD) ~~

(A) 0 (A) 0
(B) 0 (B) 0

(C)(C) . IL.-_---,--..I

(D) ~(_~I

Set·A



128. Flow. charts -involving loops are
shown as:

129.l{CfiOR~cmGRMTfmt, ~~t€l ~
~ 10~. t,~OR~ 3mffi~

Tfmm, ~.~€t HklI$ 12~.OT 3mrff

cJrr~~:

(A) 32~.

(B) 22~.

(C) 40WiT ..
(D) 8~.

. (A)·

(B)

(C)

(D)

129. A wire is in the shape of a square of
side 10 cm. If the wire is rebent into a
rectangle of length 12 em, breadth of
rectangle will be :

(A) 32 em

(B) 22 em

(C) 40 em

(D) 8 em

(A)

(B)

(C)·

(D)
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130.~· 3ilqaICfiH~~qR"'lQlOO~

. t I~~ Mktl, 35~tm.~
cIit lfN."tPft. ? .

r
I 1~. The perimeterofa.rectangular sh$tt

. \ is 100 em, If the length is 35 em, then
~readth will be :
\
\

(A) 15 em

(B) 25 em

(C) 35cm

(D) 45 em

131. The circumference of a,circular sheet
is 154 m. The area of the.sheet is equal
to:

(A) 18865m2

(B) 1806.5 m2

(C) 1868.5 m2

(D) 16885m2

p ..
132. -, form of 3.7777-----.,.;..------- IS :q .

3
(A) 10

(B)
3
11

34(C) -
9

37
(D)

10

(A) 15 -mft.

(B) 25~.

(C) 35~.

(0) 45~.
r

131. -?!fllCfii{ ~ c1n'.tri*.r qft lfN 1541ft.
tl-m~·~l1tn:

(A) 1886.5 q1f 1ft.

(B) 1806.5 'Cf1f 1ft.

(C) 1868.5 ri1ft.

(D) 1688.5 ~ 1ft.

. . P
132. 3.77771fIT - ~mm:. q

3
(A)

10

3
(B)

11,

(e) 34
9

(D) 37
10

1. t
/ J
II

.13/-'RE~ .53-

,

Set-A



133. Which of the following is a surd.

(A) .J64

(B) 50 x J45

(C) ~xm
(D) 8M +4Jf5

134. The values of a and b when,

-13.-1 .....
'J3+f = a+b..f3ds .

.(A) a = 1,b= 2

(B) a = 2, b = -1

(C) a=-1, b=2

(D) a = 3, b = 1

135. The area of an equilateral triangle of
side a, is:

..f3
2(A) -a

4

13-3. f.tt:r 1l.~.q;l;f "{ft ~ ~ t I

(A) J64

(B) fiOxJ45

(C) ~xm
.(D) 8M +4Jf5

-13-1 r:; . . .
134 . .f3+i = a +.b-v3 1l a "ffWTb CfiTlfR3+1 .

WIT :

(A) a = 1, b = 2

(B) a = 2, b =-1

(C) . a = -1, b :;:;2

(D) a = 3, b = 1

135. «q&l'S~CfIT~Wrr,~~
~~~lfTCr at I

..f3
2(A) -. a

A

(B)
1 2

1 2-a
(B)2 -a

2

(C) 1 3
1 3-a

3 (C) -a
3

(D)
..f3

2 Jj' 2-a'
2 (D) -a

2
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136.·~ ~$JqRqlq20~. Wtn

~ ~ f!t4itJt~· tot"". 8 ~ 11' 'ftl
~~'8lm:

'(A) 12Wft2

(B) ,24 '@:ft2

(C) 8oWfi2
"-

(D) 40mft2

136. The perimeter of a Rhombus is20~1l.
One of its diagonals measures 8 cm.
The Area ·of Rhombus is :

(AY 12em?

(B). 24 em"

(C) 80 em'

(D) 40em?

137. The area of a regular hexagon whose
one side is 4 units is :

(A) 4~sq.units

(B) 6J3 sq.units

.(C) 24.J3 sq. units

(D) 12~ sq.units

138. From a point Q. the length of the
tangent to a circle is 24 em and the
distance of Q from the centre is 25 em,
the radius of the circle is : ,----

(A) 7cm .

(B) 12 cm

(C) 15 em

(D) 24.5 em

137. ~ f.h4fqnl!l~tit~.~~·'qN
4~mm~.~1frn··:

(AY 4Jj ,Cfti ~

" (B) 6.J3 em~

(C) 24../3 em 'P"f

(D) 12.J3 Cfti~

138. ~ ~ ~~ Qt .~.~-mft ~
~'~rm'n6tMQI', 24~t Inm Qt
~ ~ irr '{6 2S ** -et'1fll1' 1fi'f
~'8Wt? ..

(A) 7~

(B) 12~'

(C) 15~

(D) 24.5~
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139. If the perimeter and area of 'a circle
are equal then the radius of the circle
is :

(A) 2 units

(B) 7t units

(C) 4 units

(D) 7 units
I '

140. The pair of linear equations. ke +'4y = 5
and 3x + 2y = 5 are consistent when.

(A) K:f; 6

(B) K=6

(C) K:f; 3

(D) K=3

141. If tangent PA and PB from a point P
to a circle with centre 0 are inclined
to each other at angle 80°, then LPOA
is equal to :

(A) 50°

(B) 60°

(D) 80°

139. ~'.~ <fiTqR"Ilq '(f~' ~ ~ ~

'<it~cfrr~ittft ?

(A) 2~

(B) 7t.~

(C) 4~

(D) 7~

140. ~1lf l{~Cli"{uil, kx + 4y = 5 tun
3x + 2y =5 &iff1d~ mrt ~

(B) K=6

(C) K:f; 3

(D) K=3

141. ~fG1ftCliI ~ 0 t,.~. Gl~ Wr
'ij.PA(MPB~fir;gP,~~~t I
~:mtm'ij 80° W qftur ~ t I <it
·LPOA~~iPn:

(A) 50°

(B) 60°

(C) 70°

(D) 80°
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1
.....' 142, When A '" <1>. then number of elements
••. in peA) is: ,

143. If A and B are 'two sets, then . 143. ~~ A .m~B G:l ~~ ~, m
n(AY+neB) is equal to : n(A) + neB)'*~ ..~ :

(A) 1

(B) 2

(C) 0

(D) 3,

142. ~ A = $, nT P(A)~ ~lit~
ittft :

(A) 1

(B) 2

(C) 0

. (D) 3

(A) n(AuB) (A) n(AuB)

(B) n(AnB) (B) n(AnB)

(C) n(A u B) -n(A n B) (C) n(A uB)-n(AnB)

(D) n(A uB) +n(A n B) (D) n(A u B) +n(A nB)

144. ~ A 3fh B.Gl ~:a(4l11 f I nl
(AuB)~ (AnB)'*~t

(A) A~B

(B) B-A

(C) (A-B) u (B ~A)

(D) ~~~~

J'\ '-----~----------.....-.-
.~.~ 13/.JREN -57~

II

144. If A andB are any 'two sets, then
(AuB)- (A nB) is equal to

(A) A-B

(B) B-A

(C) (A - B) u (B- A)

CD) None of these
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14$~ Tho sum of ages of father and his son
is 4Q yrs and difference of. their ages
is 2Q yrs, then the age of the father
will be; -e

(A) 35yrs .

.-(B) 3Q yrs

(C) 25 yrs

(D) 2Q yrs

146. There are ftfty paisa coins and twenty
five paisa coins in a bag, the total
coins are 99 and their values is
R$. 33.50, then the no. of each type
of coins separately, is :

(A) 35,64

(D) 3Q,69

(C) 4Q,59

(1) 4$,54

145. ~ fifm am ~·fiiT ~ C6T414Ith(1

40 'ri ~ ~ 20 'ri t, 0) fqm cfiT
~~?

(A) . 35Cflf

(B) 30 Cflf

. (C) 25~

(0) 20'ri

146. ~~-ij~.3ffiwofu:J.~~~
99~f '~~~~33.50
~o)~.~~ ~fil cfiT~
~-~Wft?

(A) 35,64

(B) 30,69

(C) 40,59,

(D) 45,54

141~lf (.fi)'X81 =3n x3J3, then the 147.~(.J3yX81=3nX3..J3mmn~

value of n·i& : m;r t :.
. (A) 4

(In s
(C) 6

(Il) NQn.~Qfthese

(A) 4
(B) 5

(C) 6

(D) ¢~~.~
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114110 RC.F of,(1 + x + xl} and 1~ X', is

(A) I-x

(B). I +X+X2

(C) 1+x

(D) I-x3

149. L.C.M of two expressions is 1~y2z'
and their H.C.F is 4xy, if one of them
is 4x2y, then the second expression,
is :

(B) 12xy2z

(C) 12xyz

(D) 3yz

150. Number of roots the quadratic
equation have :

(A) 1

(B) 2

(C) 3

(D) None of these

148. ~l;+ x + X2)~ 1 - x3 'C61' '" ~f1"'.
'. Hqiq~dC6~:. ,

(A) I-x

(B) 1+x+x2

(C) I + x

(D) l-x3 '

149. Gl cdG1~j Cf)T HY)'dRHqlq~f4 l~x2y2z.
nm~ftq\Q~dC64xyt l'~~f~ .

4ry t, it ~ &i'l1eti m- :

(B) 12xy2z

(C) 12xyz

(D) 3yz

lSO.11tmr HtftC6(~1~ ~."Ift ~ infi
~:

(A) 1

(B) 2

(C) 3
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INSTRUCTIONS REGARDING METHOD
O'F ANSWERING QUESTIONS

(Please use Blackball-pointPen)

1. Metnodof Marking Answers:
To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure :
There are four alternative answers to a
question, only OI?-eof them is correct. One
mark will be awarded for each correct
answer, if more than one bubble' are
darkened for a question, it will, be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

3. Cancellation or Change in Answer :
It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on oMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :
(i) Please ensure that all entries in the

answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
QUestion Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFfER THE
EXAMINATION.'

5. Care in Handling the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.

3'd(~nc:CfiT wITlT Cfi~ ~ 'ttt aw ~,
-mqqRt ~ I W 1:fi~, 1f1~' m ~
~"B~;r~~1

(~ Black ball-point iRCfiT w:r1Tr ~)

1. ~~CIiT~:

~ ~ it fu4 ~.~:31R. ~ ~fWCflI-q
~ ~,it ~ -q ~ -rFtT.ffirTIm -q "B
m~mci1~q)fffi~1

2. ~iCh"~:

~~~T.ffi~~t ~"Bt;Cfi~

~~ I~Cf1f~~ ~~"B~ 3icfi

>Trn~I~~ft~m~~~~
q) ~ l1R1 ~ fcn "o/ta:mff coT~ Cf1f ~

~~~~3fu:~~~~~~1

3. ~q,1~CfiBfm ~S(?HI:

~~~~~itmcnret~1Rft
~ -rFt~ ~ f.rm;rcoT~ ~ ~q)Trr I

3:10: ~ Cf1fg ~ in~ ~ m ~ Cf1f

~~Cfitl

4. ~WR:m~cit~:

(i) cftPJ'Cfi coT3'd(!lftc: ~ ~,~ t1)R~d
Cfi( ~ Wi''3m W it GtTI'~ 'R ~

'tftf~ ~~--;rm,U'0 ~, ~~,
>IT-l ~~iWcfiT CfiT ~, 31Tfu f.roqffur
'fm;J' ~ irCfl- irCfl m w) ~ I

(ii) W~ '3lRRf w~~ffcn1 m-~f«1CflI
'~m~B~cft ~~I

u

-64- Set-A


